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2A:

2 Atel Z Xl ot

33 NGEHM 2483
ol NEad3e sdXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 23,800 32,180 28,350
= 7,140
== 4,998
Al 11,662
01 At22telt] 23,800 32,150 28,350
OFehtAgda ZEE QHEZ XI& 23,800
= 7,140
=S 4,998
Al 11,662
eI A IEE AMEE XJ (KHA) 80,000 12,600 67,400
301 LELEE S 10,000 0 10,000
14 JIEt2 8= 10,000 0 10,000
OsIH A QHEIS R (MEIEERE
X&) 10,000
401 AlEHIZ S 0HBI 70,000 70,000
01 AlZH| 70,000 70,000
OB A AENE AFE
10,000,000 79K 2= 70,000
243e XA 851,352 839,727 11,625
201 2= 3,220 3,220 0
01 At22t2lt] 3,220 3,220 0
OAMBNIAMAAS B4 Sg
70,0002 x6H #23 840
OPIMZRSSEOIN B4 g
70,0003 %1723 2,380
306 EX= 250,000 250,000
01 £g= 250,000 250,000
OUSESHE £¢= 250,000
307 212+01& 189,132 177,507 11,625
02 LB HANHEE 20,000 10,000 10,000
Oxafselcgts etitsizl 20,000
03 2IIHHEE2SHIEx 34,132 32,507 1,625
OAa38018s HI2EH| NE 34,132
08 OIXt2d = 135,000 135,000 0
O4 a5 SEXFA OIX2HS
4,500,000,000 3% 135,000
308 AHXIHMSO0IA 9,000 9,000
13 S [2S0He 4 A AS A 9,000 9,000
OoFEFY L4501 ALE
900,000 %104 9,000
402 QI2F X201 & 400,000 400,000
01 QI X2 AL EE (KEHITHE) 400,000 400,000
OaatEel 2t sH-EIEAIE
10,000, 0002 *40JH 2 400,000

_2_




SN YXRIZR D
Hm: NAAN 25
CHol NHAAZO SAXH (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
GHAAE StERs2 X 283,500 405,000 121,500
= 85,050
Al 198,450
301 EtE N = 283,500 405,000 A121,500
= 85,050
Al 198,450
14 0Bt 243 283,500 405,000 121,500
OgNAaBL a2 X
157,500& *1,8007H 2 283,500
== 85,050
Al 198,450
SMAMBO T XIR (KHHAY) 180,000 180,000
301 EtE NS 180,000 180,000
14 IIEt2 83 180,000 180,000
OgMAdSB2 Jtee=2 K&
200,000 *9007H 2= 180,000
AYBUSH(c&SRASH) I XA 39,480 47,000 AT,520
=S 11,844
Al 27,636
307 21201 & 39,480 47,000 AT7,520
< 11,844
Al 27,636
02 2B HAHE L 39,480 47,000 AT7,520
OAaSUSH(-etRASH) IS XA 39,480
= 11,844
Al 27,636
==3N gdal 25,800 25,800
201 fer23y| 20,800 20,800
01 AtR2t2|HI 5,800 5,800
O € JI=&E 22 3,000
O=tZd € II12E =2 UHRE 2,800
2 S52g4l 15,000 15,000 0
O=2s2d 2 II=E 2g22(HI], &2
2) 1,000,000& «12& 12,000
O=2&d, JIIZ&E NEE RAES 3,000
401 AlEHIZ S 0HbI 5,000 5,000
01 A28l 5,000 5,000
O=2EE Ad= EHl & 2+3A 5,000
gEAEYEH 2E 1,442,908 1,542,177 A99,269
101 e124d| 30,083 29,352 731
M ORINZZ2NSE S 30,083 29,352 731
OJtdE X 2el 22X FY 17,064
JlZ2s 78,8803 x2H+81 12,779
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2A:

2 Atel Z Xl ot

33 NGEHM 2483
ol NEad3e sdXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CEETIES=) 78,8802+ 162 2,525
a2E2 16,304, 0002411, 5% 1,760
OSHRE o= 225 o=y 13,019
Jl2s 78,8802 x1H*124 9,782
-ErEsdsd 78,8803 x 1 »24 1,8%4
A== 11,676,0002 *11.5% 1,343
201 eer23y| 1,412,025 1,612,025 100,000
01 AtR2te|HI 1,382,535 1,482,535 100,000
OXFoSd QI 1002 1,800, 0000K 180,000
O2te . 2HedEd g2 =22 830,000
OXFoE5d HHH ===
30,000,000,000& +0. 5% 150,000
OXNFo=Zd 2Hld =8
30,000,000, 000& *0. 5% 150,000
Od=dSE MH 752200, 0000H 15,000
OXFE &3 2|2 L]
5371 2+85,000& +7=+660, 000 7,535
2 35234l 29,490 29,490 0
OEJAMNEHFTA T2 sehatel MHlA
el E9 37,5003 53 -+ 123 23,850
Od2ANEaZA JHUE HUEES QER
=2 4703 +4,0000H 2-*32] 5,640
202 04| 800 800
01 =LHO LI 800 800
OgANgdZd RSNEHE 800
HYEAMSAZH LRAX AL (XEH) 7,760,000 7,760,000
301 EtE N = 7,760,000 7,760,000
14 IIEt2 83 7,760,000 7,760,000
OLMNSNER OIS AZ(100)
77,600, 000,000& *10% 7,760,000
g2E HEY 2 84,000 216,880 132,880
201 et 3| 7,500 15,000 AT7,500
01 AtR2te|Hl 7,500 15,000 AT7,500
Otigd =28 fd01=2 P2 5,000
O s24I(8HXl, 842 5) 2,500
301 EtE NS 76,500 201,880 125,380
14 IIEt2 83 76,500 201,880 125,380
Otigd J1dd o2+ A& 17,500
Otigd olsAd &43A EIE X5
1,000 15021252 * 1204 & 45,000
OZtHEe AMESEZ JtHl XA 5,000
OZtgd 82 EH| X2
300,0008 %30 9,000
HdSAE 2el & ZEMl 396,993 441,663 A44,670




2A:

NN

=

33 NSEHM 2483
Rl HSAE 22 E g (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 32,452
Al 364,541
HEAE 2g2d 236,390 217,785 18,605
101 @124H| 55,410 53,205 2,205
M ORINZZE2NSE S 55,410 53,205 2,205
OSEAE Sd8Hl & Adaeld S0 55,410
E2s 78,8803 x2EH 2462 38,809
raEsdse 78,8803 x2& 69! 10,886
AHEE = 49,695,000 x11.5% 5,715
201 er23| 164,960 148,560 16,400
01 At2teltl 103,560 87,160 16,400
OSEAE Hatx A4
3,000,000 *37H 2 9,000
OBEANE S MIIAEEE ===
6,000,000 *37H A 18,000
OSEAIE 85 dogtd2e| el =5
180,000 x 104 2% 123 2,160
O3EANE AHANLE SSHLESH
2,000,000 *27H 2 4,000
OSEAE AHANE HS)|s B4
2,000,000 *37H 2 6,000
OSEAE =7 SUE
5,000,000 274 24 10,000
OHEANE S5 A EY
5,0003+500m 43| 10,000
O3 EAE ANES(H=) BN EH
12,000,000 x23] 24,000
OHENT goisrs 2oy
1,600,000& *92 14,400
Oz e ot 2828 7Y
500,000 * 12 6,000
02 S3=gHl 61,400 61,400 0
OHSAE &JIRs
800,000 x4 2% 123 38,400
OHENT MBHEER
300, 0003 *404 A+ 128 14,400
OLEANE S22t &)|Rs
300,000 x 14+ 123 3,600
OAI2€&Hl =X8l 1,000,000 #4942 4,000
OSEAE AZIHAE F=HI
1,000,000 17K 2 1,000
202 04| 9,020 9,020
01 =LHA LI 9,020 9,020
OHSAIE SFMNEAMY A 5,220
ONSANE =& & JHl 3,800
203 B2 =L 2,000 2,000 0




2A:

X XH -
o=

2 Atel Z Xl ot
UNE=EED

st
=
HSAE 2

=l 2 I (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 A=A RN 2,000 2,000 0
OXNSB M AlIZ =& 2,000
206 M=l 5,000 5,000
01 M=4l 5,000 5,000
O34 - 8¢ - AEANE == MBI 1
Al 25,000 200K 5,000
HSANEY Hod F2)| =01 28 91,253 138,528 AN47,275
< 27,376
Al 63,877
307 glztol & 91,253 138,528 AN47,275
= 27,376
Al 63,877
02 2B YA E X 91,253 138,528 NNA4T,275
OHSAE U F2I|=201 N2 A
18,250,600 x6H 91,253
= 27,376
Al 63,877
HSAE 2A3%t= AEIIRAH 26,400 33,000 6,600
307 212+01& 26,400 33,000 26,600
02 LB HANHEE 26,400 33,000 26,600
OHSAIE AZ2ASAEINRM K& (AHIF
E§3) 13,200,000 *2JH 2 26,400
HEAE S HSH KA 12,000 12,000 0
= 5,076
Al 6,924
307 el2to| & 12,000 12,000 0
= 5,076
Al 6,924
02 QB AHANEEX 12,000 12,000 0
OXSAE SHHSH XIHAS
80,0003 »1500H A 12,000
[ 5,076
Al 6,924
HSAE Etl 2SS MHlA X2 ALY 30,950 21,450 9,500
307 elztol & 30,950 21,450 9,500
02 2IZHBYAIHE X 30,950 21,450 9,500
OHSAIE Olix &l RS MEIA XIE
Ar& 30,950
SAE A 606,500 339,200 267,300
== 300,900
Al 305,600
HSAE AEESUtAE 105,000 245,000 140,000
401 AIEHIZ SR HYI 105,000 245,000 140,000
01 Al&H| 105,000 245,000 A140,000




2A:

X XH -
o=

2RI ZH
ANSEH -zt
SSAE SFINEAE

(]

Sa #3Hd (EH9): ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O&SANE A2 HHIAY 105,000
SEANE 35,000
EEANE 14,000
QIZAIE 35,000
2SAE 21,000
HEAE ANESHKIZ (HEALL) 501,500 94,200 407,300
= 300,900
Al 200,600
401 AIEHIX R0 501,500 94,200 407,300
= 300,900
Al 200,600
01 AlZ2H| 495,360 94,200 401,160
OLIZAIE OHAOIE EXIAE 495,360
== 297,216
Al 198,144
02 Zeltl 6,140 0 6,140
OCIEAIE OAIOIE A=S A ZelESH] 6,140
= 3,684
Al 2,45
LA FEAS 4,651,640 4,796,514 N144,874
= 451,940
= 314,289
Al 3,885,411
axtel & NSA 20,400 20,400 0
201 er=23| 18,500 18,500
01 AtR2te|Hl 18,500 18,500
OLR2| QU HIE
2,800 +2,500% 7,000
@)=3] 3,000
Ol =& 2,000
OgXtel gxetgs It & 24| 6,500
202 04t 1,900 1,900
01 =LHOHI 1,900 1,900
ol AEgF =8 1,900
=2 E AAEE(Quick Start) At 300,000 300,000
307 21201 & 300,000 300,000
02 B AANHEE 300,000 300,000
Oged AAEBE (Qick Start)Ared 300,000
dsdE ZEE 2XelAY 920,880 1,190,800 A269,920
= 451,940
== 135,582
Al 333,358




SN YXRIZR D
3 NG3H gdst
el ZRNCIFHENY (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 903,880 1,185,700 A\281,820
= 451,940
== 135,582
Al 316,358
M ORNZZ2NSE S 903,880 1,185,700 A281,820
OXISAHIA AFZEXICH o2 el 24H| 154,000
= 77,000
=S 23,100
Al 53,900
OIPles dEHHEE 2] 340,000
= 170,000
=S 51,000
Al 119,000
OUZl A4=2X1210] 21244 55,000
= 27,500
=S 8,250
Al 19,250
OXlelersi=de] ME =208 28 oA
Bl 128,480
= 64,240
s 19,272
Al 44,968
OX2EA2 =20 2] 84,000
= 42,000
=S 12,600
Al 29,400
OuS=23H=30) 22l HLIX 38,000
= 19,000
=S 5,700
Al 13,300
OU=23t I8 E ?Iet =0 XE Y2u= 30,400
= 16,200
= 4,560
Al 10,640
OE& N HZ2ci 74,000
= 37,000
= 11,100
Al 25,900
201 =3 3,000 2,000 1,000
01 At22t2lH] 3,000 2,000 1,000
OulsE g LAelArd 22 & 23| 3,000
202 04l 4,000 3,100 900
01 2LHoIH 4,000 3,100 900




2A:

E M

2t B Al
KNS 2dat

o A EHEAE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Odlsd =g dXelAry =& 0] 4,000
206 M=l 10,000 10,000
01 MZH| 10,000 10,000
OUBH 22 LT2ANLODIEE BE
SHMEH) H=H] 10,000
SESZZMY =& 2,035,250 1,985,691 49,559
101 eI24d| 2,031,900 1,982,341 49,559
M ORNZZ2NSE S 2,031,900 1,982,341 49,559
O3&822 JIZtHZ22Xh 2+ 2,031,900
201 er23| 1,000 1,000
01 At2t2ltl 1,000 1,000
OSEI2AY g2 =4 1,000
202 04t 2,350 2,350
01 =LHOHI 2,350 2,350
O33ZZAE XN=8& 0l 2,350
EIE XA 498,684 482,183 16,501
101 ©1AH| 498,684 482,183 16,501
M ORNZZ2NSE S 498,684 482,183 16,501
OFEQIE XIHAY Q12| 498,684
=2 2,129,760 «3bH+6EH 12 447,250
A== 447,250,000 *11.5% 51,434
tistall L XtelALE 474,937 498,29% N\23,358
101 @1A4H| 474,937 498,29% A\23,358
04 JIZtNZ22 XS 2+ 474,937 498,295 A\23,358
Otsrd XtelAre 474,937
CHEHA XI2IAY Q12|
2,129,760« 100 1 & +22] 425,952
CHaH A XieIALY AHEE (MRS
2) 425,952,000 *11.5% 48,985
NS SH LRtel A (HEAIY) 166,381 275,600 /109,219
=S 108,147
Al 58,234
101 21AH| 160,881 268,900 108,019
== 104,572
Al 56,309
M ORINZZ2NSE S 160,881 268,900 A108,019
OXNSSSH LAteIAtd Z0AH 2lAt| 160,881
= 104,572
Al 56,309
202 04t 4,000 4,000 0
= 2,600
Al 1,400
01 2L AL 4,000 4,000 0




N DN T b= DAy
NG EH gyt

C I EEAMNE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXNSSSHL A =X 4,000
= 2,600
Al 1,400
206 MH=H| 1,500 2,700 1,200
=S 975
Al 525
01 M=8l 1,500 2,700 21,200
OXASSHLLIMNE =& HESHI(ZSH
Hl t&FR 2 S) 1,500
== 975
Al 525
2ie| SHS A5 24 53,908 46,99% 6.913
101 @124H| 36,918 30,005 6.913
MU IIRINZZENSES 36,918 30,005 6,913
OFSX2 LI 36,918
Jl2s 2,320,000 «1& 112 25,520
HEE, 2sHl § Mg 7,590
AHEE = 33,110,000 *11.5% 3,808
201 Ler23| 14,000 14,000
01 At2teltl 10,000 10,000
OdcIZAE d= gtz
600,000 * 12 7,200
OZXelZ2S AR 2E| 2,800
02 35284l 4,000 4,000 0
OLX2IERE S22 (HII, 2HY, M3t
S)) 4,000
202 04l 2,990 2,990
01 =LHAHI 2,990 2,990
ONYMEA BSHY 29 2,990
M NTA S
20,0002« 1 * 112+ 122 2,640
- AYAEA ZO0DkE 2XReldE S0
| 50,0002 x1H 73] 350
3 FHY NSA 42,000 84,000 242,000
= 16,800
Al 25,200
307 gl2to| & 42,000 84,000 242,000
= 16,800
Al 25,200
02 QB AANEE R 42,000 84,000 242,000
Oo&d HYXA 42,000
== 16,800
Al 25,200
4060 AlSE FHAXIHAIS 134,400 193,200 /58,800




SN YXRIZR D
B XAAF B
Crel: ARRIHEAY (Er9 &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 53,760
Al 80,640
307 lztol & 134,400 193,200 /58,800
= 53,760
Al 80,640
02 2IZHBYAIHE X 134,400 193,200 58,800
O4060 AlSE FHE X 134,400
= 53,760
Al 80,640
JlgEY 208 2¢ 4,800 4,800 0
201 et 3| 4,800 4,800 0
01 Al 22IH| 1,600 0 1,600
OJIgEY T2 2% 222E 79
10,0002 *40& *43 1,600
03 A2 Y] 3,200 4,800 1,600
OJlggd Z203 29 HA A=
800,000 1CH*43] 3,200
WEFN X 3,000 3,000 0
AN A 2Hel2E 3,000 3,000 0
201 etz 3| 3,000 3,000 0
01 AtR2te|HI 3,000 3,000 0
OXGANA NEEH 3,000
ARl BB 28 s4 838,535 1,295,066 A456,531
= 9,145
[ 297,000
= 101,229
Al 431,161
Ot=Jlg=syd 78,000 118,000 240,000
= 15,000
= 4,500
Al 58,500
201 er23| 25,000 25,000
01 At2teltl 3,000 3,000
Obt=o1g or3tual 3,000
03 A= SHI 22,000 22,000 0
OntES21e ol 12,000
o2y JaX #xior 10,000
202 04| 3,000 3,000
01 =LHO LI 3,000 3,000
OoltE’1g 54 & 84 3,000
307 elztol & 50,000 90,000 240,000
= 15,000
& 4,500

—_

‘I —




2A:

X ZH -
o=

2 Atel Z Xl ot
KNS 2dat
Xl

SRl AR EEH =& =54 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 30,500
02 QA AAEE X 50,000 90,000 240,000
onsJ1g XN E 30,000
[ 15,000
= 4,500
Al 10,500
otr=J1g gdat A& 10,000
OoltE’I1g 55 €22 M 10,000
OIS0 AIRE R 23,160 45,360 N22,200
== 10,560
Al 12,600
307 elztol & 23,160 45,360 N22,200
= 10,560
Al 12,600
02 2B YAIAE £ 23,160 45,360 N22,200
Obr=J1g A& X2 23,160
= 10,560
Al 12,600
AMRIEDIE eI EE XA 376,000 540,000 164,000
= 282,000
= 28,200
Al 65,800
307 @120l & 376,000 540,000 164,000
[ 282,000
= 28,200
Al 65,800
02 2B YAIAE & 376,000 540,000 164,000
OAtIH)Ig 2XelEE 376,000
[ 282,000
= 28,200
Al 65,800
ASIEZH HEAS AL XIZAS (21248]) 16,461 301,392 A284,931
= 9,145
== 2,195
Al 5.121
307 elztol & 16,461 301,392 A284,931
= 9,145
[ 2,1%
Al 5,121
02 2B HAHE L 16,461 301,392 A284,931
OAIZIHZ M HAS AL XIZ AL (Q124H]) 16,461
= 9,145
s 2,195

b
[




2A:

E M

2 Atel Z Xl ot
KNS 2dat

ool ABIRAR 2N S4 (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 5,121
ASIZZH HESHADIL XML (L EHI) 914 12,744 A11,830
== 274
Al 640
307 212+01& 914 12,744 A11,830
= 274
Al 640
02 2IZHBHAIHE £ 914 12,744 A11,830
OAtBI A M HEH AL X2 (SHI) 914
= 274
Al 640
Al OlE] AtRIEDIY K& 10,000 10,000 0
201 fer= 3| 10,000 10,000
01 AFS2t2ltl 10,000 10,000
g3Al AlRIFIIY HE ALE X2 10,000
XS SstAt 80,000 0 80,000
< 24,000
Al 56,000
201 er23| 80,000 0 80,000
= 24,000
Al 56,000
03 A=Y 80,000 0 80,000
OMSETH 2EHs SS8EA 29 50,000
= 15,000
Al 35,000
OAlIHZMDIY BYEZ)E 23 10,000
< 3,000
Al 7,000
OAZI HZMNS =cte! B0 A JHE 20,000
= 6,000
Al 14,000
AR HBHE 28 114,000 114,000 0
=S 31,500
Al 82,500
101 21AH| 105,000 105,000 0
== 31,500
Al 73,500
M JIZtHZZ2 RS2 105,000 105,000 0
OA2IHENE A& O\_|3d|:||(3‘:c'3) 105,000
& 31,500
Al 73,500
201 Ler=23 | 9,000 9,000
01 AtR2telHl 9,000 9,000




M LXtelZ Mzt

M [ATH B
ool ABIRAR 2N S4 (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAt2I XM 2lae & E2XIH 6,000
OA2I XM 28 3,000
NEEd eI At 60,000 0 60,000
307 @I2t0| & 60,000 60,000
02 QB AANEER 60,000 60,000
Odt=0I2 AEE Z2RE 60,000
JtHl, 82 MF 2208 A48 40,000
231 24 W=H|, 22l 20,000
RS AR BN AEDIY SEAY 80,000 80,000
307 elzto| & 30,000 30,000
02 2B YA R E A 30,000 30,000
OEdE AMFTM AEDIY (28R} 20,000
OE28 ARRZM AEDIY SE(1EXR}) 10,000
402 2I2E X201 & 50,000 50,000
01 QI X2 AL E R (KHMITHE) 50,000 50,000
OEE AMIFTH AEDIY SH(1EXR}) 50,000
ARIHEH X4 17,200 31,200 14,000
ARl EZ M OF3HTIOI 9,000 19,000 10,000
201 er2 3| 9,000 19,000 10,000
01 At2teltl 1,000 1,000 0
OAMSIHBHM HF= 1,000
03 A= 8,000 18,000 10,000
OAr2IHE M O13tI0I 8,000
AR EZH 283 X2 8,200 12,200 A4,000
201 2= 5,000 9,000 24,000
01 AtR2t2lt] 4,000 8,000 24,000
OARIHZ MDY QHAZ A XI= 4,000
03 Ar=EHI 1,000 1,000 0
OAIHZMIIE 2tEal & A5
250,000 43 1,000
202 O4H| 2,200 2,200
01 2L A 2,200 2,200
OS2AY & 2AREI S 1,000
OAMIRZN 243 g2 1,200
301 EtE NS 1,000 1,000
11 dAMEEIXIZE S 1,000 1,000
OAIHZNIIE 2tEal & A58
250,000 43 1,000
ol - FEgy g4l 4,327,909 3,360,155 967,754
= 18,861
= 335,656
Al 3,973,392




A LRI Z L
M 0l HARM HHE
el el EE = (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ey =X 163,000 186,000 /23,000
el 163,000 186,000 A23,000
201 er23| 10,000 13,000 23,000
01 At2teltl 10,000 13,000 A3,000
O3 83 s2= MH 10,000
202 048l 3,000 3,000
01 2L AL 3,000 3,000
ooy =M £& 3,000
301 22N = 150,000 150,000
14 JIEt2 8= 150,000 150,000
OXAEE XA 150,000
- Mg =ots 150,000
Y =8 4,164,909 3,174,155 990,754
= 18,861
< 335,656
Al 3,810,392
A 243 =4 21,155 28,085 26,930
201 er23| 13,675 21,025 27,350
01 At2teltl 13,675 21,025 AT,350
OFHEAM B4+
30,0003 x292+73] 6,090
OFEERARS FeE
70,0002 x0H *23] 1,260
O 243t =4 23|
& =9155,0002 5IHAI S 23S HS 6,325
202 04l 3,000 3,000
01 =LHA LI 3,000 3,000
OFHIHY SR =X 3,000
301 EetE2 NS 4,480 4,060 420
11 #AIAHIXIE S 4,480 4,060 420
OFHHH HERI X&
70,0003 x32 & *22 4,480
g Fg@noia 24 360,000 350,000
307 glztol & 350,000 350,000
05 2ItRIE =2 350,000 350,000
OE&Al 3d - FdE FA0=2 29 350,000
NAF=CE FALXCIAML (ZHIRERIH) 59,038 120,320 NB1,282
307 el2tol & 59,038 120,320 NB1,282
02 2IZHBYAIAE & 59,038 120,320 61,282
OFY LieHols Xl XIZAIL(AHIRE
3) 49,450
OFE LicH0IS A LRl XA (Al
HIRYS) 9,588
— 15 —




2A:
PSR
ool

EIpNEIE=D(in

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HAS AL U E XA (SHIZE X A) 45,000 356,000 10,000
308 XHXIEMSOIH 45,000 356,000 10,000

18 SIS0t 4 A AS A 45,000 35,000 10,000
OAlbIR83 15,000, 000& *3H 45,000
Y 3YLEE HERNA(ERX) 163,100 60,300 92,800
[ 18,861
= 3,772
Al 130,467
308 AXIHSOIA 153,100 60,300 92,800
= 18,861
[ 3,772
Al 130,467
18 SIS0t EAS A 163,100 60,300 92,800
OHY slgEs AN
12,574,000 x10H 125,740
= 18,861
< 3,772
Al 103,107
OF4 sYEE FUXA(NHEXL)
2,736,000& *10H 27,360
HSE FdgsEsd 204,000 204,000 0
=S 102,000
Al 102,000
301 EtE NS 204,000 204,000 0
== 102,000
Al 102,000
14 JIEt2 = 204,000 204,000 0
OFSE BALY Mg
500,000 «68F «6IH = 204,000
= 102,000
Al 102,000
Y F=H| X2 A 864,000 864,000
301 EtE NS 864,000 864,000
14 0Bt 243 864,000 864,000
O&FY FHl XA
60,0003 * 1274 E 450 864,000
&9 HlooteA =4 167,592 790,000 A622,408
201 2egh=3| 8,000 4,000 4,000
01 At2t2lt] 6,000 3,000 3,000
OF4d HioloteA 24
3,000,000 +27H 2~ 6,000
02 S3=4gl 2,000 1,000 1,000
O&3YE MOloteA 332 2,000
401 AlZHIZ SO 159,592 786,000 N\626,408
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2A:

2 Atel Z Xl ot

Hu: 0l AR A
ol a2z (ehol:®el)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 168,587 780,890 N622,303
OFYH HMOot2A 388 &d 168,587
03 A2 THYI 1,005 5,110 A4,106
OFH HMOoIRA 388 &4 1,005
HA=3YE NSEE XA 363,600 367,200 A3,600
== 181,800
Al 181,800
301 22N 363,600 367,200 A3,600
< 181,800
Al 181,800
14 JIEt2 8= 363,600 367,200 /3,600
ORSHE (AP (AN (H2 B
+=4) 300,000 x 101+ 1200 & 363,600
= 181,800
Al 181,800
Hd=FYE M FHHES 84,000 24,000 60,000
== 42,000
Al 42,000
301 22N = 84,000 24,000 60,000
[ 42,000
Al 42,000
14 JIEt2 8= 84,000 24,000 60,000
OH=FEE SN FHiss At
100,000 70 * 12043 84,000
= 42,000
Al 42,000
T=2 FU dolE28 Ot K& 20,280 20,200 80
s 6,084
Al 14,196
307 21201 & 20,280 20,200 80
< 6,084
Al 14,196
06 2= 20,280 20,200 80
OzZ=R a2 I X
40,0002 *507H 20,280
= 6,084
Al 14,196
FE gtgel g 29 8,000 8,000
201 ZBt=Ehl 8,000 8,000
03 A= 8,000 8,000
O&d gtgol & 23
4,000,000& 22 8,000
OI2 OIHX ADEZ A Ze A 1,825,144 0 1,825,144
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2A:

ol
=2

Atel 3 Hl 1t

Hu: o7 HEANM 2y
el 3EEE =0 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 AIZHIR 2 0H| 1,895, 144 1,895, 144
o1 Al&t] 1,818,507 1,818,507
OU2 OIUT ADIEE SATK Z&A
S04 1,818,597
08 A& 2 CHY| 6,547 0 6.547
OU2 OI4X ADIEE HATX Z&AY
S 042 6,547
NEZEH 28 386,468 499,366 A112,898
NS ZEH 245 X8 386,468 499,366 A112,898
= Y2 =2 7,300 7,300 0
201 Lsr2] 5,500 5,500 0
01 AF2-2t2ltl 5,500 5,500 0
OSYANS 22 X2
100, 0002449223 1,800
OZSH Y2 =3 3,700
R EEPIE:
500,00021453] 2,500
22| 8.0002!+32153] < 107 & 1,200
202 01t 1,800 1,800
01 =2LHoil 1,800 1,800
ONATEH 42 =7 ot 1,800
ZEANRE 29 226,118 289,916 263,798
101 Q1248 92,918 167,921 4,997
VPR EE=T=E 92,918 167,921 4,997
OMIE Z# 01211 (52) 124,881
CHEHE(18) 2,757,800 1004 & 27,578
- 2E(1) 2, 186,8002 1074 21,868
- X2l (22) 2,146,60021 %22+ 10042 42,922
=2(1%) 1,962,3002% 121+ 104 & 19,623
428 OlpR3 12,880
OH M &Y 61,737
AYDRAL(IBAIZY 25,69
SEESITIEC) 13,441
E-E =] 8,400
- NSEXH(MEE)
250,002+ 10042 2,500
EEEELEE) 175,002 10742 1,750
 xZEEY(H)
165, 00021432+ 104 2 4,950
=2| 4| 500, 00021+5% 2,500
WIEE] 50,0002 52 » 1004 2 2,500
OME N2 SZ| 6.300
TEH LB LAY HY, HTAR BF
TR 6.300

_18_




0H
i’
oF
uJ

[N Ne) o
w e (@) m o
4 o
no < g} 21818 olo
Ko N 3 s °l° e
E| -
Sk g SIEHE 5
3| < I 5 g8 8 AEIE =
) = 2| 2 NS zle 2|2 ~
k= B B B8 |3
S
S8 8 S 8 8
g8 8 88 glgIBIES8&8F=888|8
S - = | RN @ S 88 8
Sl 2 No Slildlscccenweseld s s glglsless slsls glgls gls
= 2 2 w — © < |8 ©|w o v slosls 122 21X
% cle <|g8|8 8|g
= S
7 7
Z _HI.JH @ E ~z ol J—
o A g < @ o
0 W e & —~ $ay o U0 80 2
T 4 =8 4 = 0 =St 50 %
. <A - AN > 3 =
) o o8 58 b & gt oma
I+ MMH_ SJ _ S ulo _ - M o =
= W ) g of o gy of > /o R
. W O = 00 & T ol - KX
~ = = no T o W - = M > <F 0 3l
= =0k 2 o q o= B = . < W WT =
sk 3 oo . = 4 D a1 | o
Floy.\ 0p =< W__ mm o W_ﬂ ok O Py oK = no = 0 30 e =
Tk K 3l EIRCRN R g g o [0 0H 3l
oF Atk o B = - =" == . Mo ®0 O = Mo K =
I E= T oA |F oW PRBDR -2 IR B G o o= = M| =
D Ohoo < =Tl B = = (=R K — = or '3 o2 [ o T
. 30|l = —~ 380 — o1 = N <0 — o 2 o = il [ al w0 K o ] =
%+AEJI = |= (80| <+ 0 G N B = K& M= 3 =Z|ls|ls 3 = A = I
= (W™ S ¥Dow oo im = oo = 2 3 W =g D N IR 0 oo K B
RO (0 D J0RD [ OO 0 | 3 m_v _EAO w___ _OJM 9 m,____ o o = M|z = i = = o %w [FE — O o) Z <0 U ) .MAO M| =
. o___Amx%m_%&m_E%M%..%wﬂHHm%@M%a% 0 é.&%.@&% oy SR ®|<
X m S S O R|lsls O O 0 O m ol |/ M0 = MO Ho i = Ao o o) |1 m_e L oK
o+ |8 8 == © 0 O |z|z|s © |~ & |al|a) W
0 8 - RN == O ~la O|M
W |~ S| S| H
H0 @ -
TA
=
S

_19_



2A:
PSR
ool

A=)
OUA 25 &
JtAQHE 2he|

AITHAE X X2

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,552,490
=S 420,221
Al 3,780,158
HEI| 2tel 10,885 6,000 4,885
HEI| 2el 10,885 6,000 4,885
101 ©1AH| 4,885 0 4,885
M ORNZZ2NSE S 4,885 0 4,885
OHEI HIIZA 212 4,885
Jl2s 208,600 x1H 18 3,755
ReERLsE 208,600 x1&+3 626
A 2E= 4,381,000 *11.5% 504
201 et 3| 3,000 3,000
01 At22t2l] 3,000 3,000
OAEI SA S22 =8 3,000
202 04l 3,000 3,000
01 2LHoIH 3,000 3,000
OHEIZAL & HEHRFA 3,000
JPAQHA 2k 4,141,692 667,524 3,474,168
= 1,423,750
< 213,095
Al 2,504,847
IHAAIE QHMIX 2SS AL (EHOI0IS) 9,900 25,000 ~15,100
= 2,970
Al 6,930
403 AXIEMSA=01d 9,900 25,000 A15,100
= 2,970
Al 6,930
02 SISO St =2 A P E A I 9,900 25,000 A15,100
OIAAIE HEEX ES M (EINS) 9,900
s 2,970
Al 6,930
OrSEel LPGAENEY SS A (ZH]) 735,927 0 735,927
& 200,000
Al 535,927
402 QI”F X201 & 735,927 0 735,927
= 200,000
Al 535,927
03 2IZ+RAETAIS I 735,927 0 735,927
OntSE?l PGAENEYT S A (ZH]) 735,927
= 200,000
Al 535,927
OIS E?l LPGASEMEY 2SS AR (XHA) 687,365 597,524 89,841




M LXtelZ Mzt
2 UK 28 E AHAHUEX X

CHRl: JIAQHM 2te) EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 3,320 3,320
01 2LHoIH 3,320 3,320
Ol0t=H? (PGASENEHT EaAeY =8 3,320
402 2IZtA=01d 684,045 594,204 89,841
03 2IZ+RAETAIZ I 684,045 594,204 89,841
O0t2et?l LPGASXME YA 23 A (XHA)
16,684,010 «41 Ml CH*10H A 684,045
LPGEJ| ALt AIEIHE AL 67,500 45,000 22,500
= 33,7850
= 10,125
Al 23,625
403 AXIEHHSA=01d 67,500 45,000 22,500
= 33,750
= 10,125
Al 23,625
02 SISOt =2 A P E A I 67,500 45,000 22,500
OLPG EJ1 AFEIt=E AIEHE AL 67,500
= 33,750
= 10,125
Al 23,625
S - U PG 2tE =AM 2,641,000 0 2,641,000
= 1,390,000
Al 1,251,000
402 2I2F X201 & 2,641,000 0 2,641,000
= 1,390,000
Al 1,251,000
03 2IZHAETAIHHI 2,641,000 0 2,641,000
OF - HE LPGHH2HY =AY 2,641,000
= 1,390,000
Al 1,251,000
ITHHUUX 258 & 28 2,600,292 5,021,194 2,420,902
= 1,128,740
< 207,126
Al 1,264,426
HUXIZe Bs % S2XNE A 4,400 6,400 22,000
= 2,200
Al 2,200
201 er2&| 4,400 4,400 0
= 2,200
Al 2,200
01 AtR2t2lHI 4,400 4,400 0
OOXIZS XA (FeWE & LK
2l) 4,400
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2A:
X XH -
o e

=aak

2 Atel Z Xl ot
WX 22 & &
ATHANUX 25 & 28

UK X2

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 2,200
Al 2,200
AITHAOIH X =EX2ALS 187,866 297,220 A109,3%4
= 41,916
Al 145,950
402 2IZHA=01A 187,866 297,220 /109,354
=S 41,916
Al 145,950
02 RIINEASEZ(0IETHR) 187,866 297,220 A109,3%4
O&THAUUH X =4 XH AL 187,866
EH 22 (3KW) 1,271,900& 1400t 178,066
& 38,066
Al 140,000
B (14m) 1,540,000& #5747 7,700
= 2,800
Al 4,900
- NI (17.5kw) 2,100,000& 10t 2,100
< 1,050
Al 1,050
KNS B2 & &8 3,660 3,660 0
201 er23 | 1,000 1,000
01 At2teltl 1,000 1,000
Ol R 1,000
202 048l 2,660 2,660
01 2L AL 2,660 2,660
OdTHHOIUX XI=ES 2,660
FHAAS X=X 12,000 71,000 59,000
206 M=l 12,000 4,000 8,000
01 MHZHI 12,000 4,000 8,000
OIPl2s HEHEHEH 12,000
- del=Y Ml 20,0002 *300AI CH 6,000
el M= 20,0002 *300AI CH 6,000
FAHS A ESHAE 11,305 11,306 0
=S 4,522
Al 6,783
402 2I2F X201 & 11,305 11,305 0
< 4,522
Al 6,783
03 2IZHRAETALHHI 11,305 11,305 0
OFSIASHHXNSEH 11,305
= 4,522
Al 6,783




M LXtelZ Mzt
2 UK 28 E AHAHUEX X

ciol: ATHANILT B3 2 28 (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SADIA BEAME 468,29 629,424 A161,129
= 140,488
Al 327,807
402 212+ X+=01 & 468,29 579,424 A11,129
= 140,488
Al 327,807
02 RIENZASEZ (01 THR) 468,295 579,424 A11,129
OHSZE TAIDIA SHES 468,295
s 140,488
Al 327,807
AT BSAHY 103,500 0 103,500
= 67,500
=S 18,000
Al 18,000
402 2I2FXH=201H 103,500 0 103,500
= 67,500
= 18,000
Al 18,000
02 RIENZASEZ (01 THR) 103,500 0 103,500
OFait 2E2SAE 103,500
= 67,500
= 18,000
Al 18,000
ATHHAUXES(S=SEXRE) ALY 1,809,266 4,002,185 A2,192,919
= 1,061,240
Al 748,026
402 2I2FXH=201H 1,809,266 4,002,185 A2,192,919
= 1,061,240
Al 748,026
02 QI TH2AILEE (01X THE) 1,809,266 4,002,185 A2,192,919
OAMTHANIU X S=EX2A 1,809,266
= 1,061,240
Al 748,026
HH2LZHI(LX2IZ D) 48,100 47,500 600
[2ZHI(L Xt/ ZH2t) 48,100 47,500 600
Jl23HI(L X2 D) 48,100 47,500 600
201 =3 33,500 33,500
01 AtR2t2lt] 33,500 33,500
Oget=ZH| 25,000
O=2H| 6,000
OR=d 28| 2,500
202 04| 6,500 6,500 0
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2A:

2 Atel Z Xl ot

A #ZYRAZH(LT2IZ M)
el J12ZuI(L X2l D) (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 2LHoIH 6,500 6,500 0
OgXtel Mt =8 Ol 6,500
203 HF=AH] 8,100 7,500 600
01 D[22 HRFA| 3,300 3,300 0
OJ|2=gg =] 3,300
MU FA2SHI LI 4,800 4,200 600
ORA2gYREY| 4,800
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